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1 F H O BEEG 43 40 83 23 60
2 £ )l X O £/RG 43 41 84 20 64
3 N ME O AR N 42 38 80 14 66
AT =~ A B O BN 44 38 82 15 67
F & 5 O AUE 36 41 77 10 67
6 W F X O BEEG 37 49 86 18 68
1T b KX EBE O m B2 40 38 78 9 69
it 5 O =i 39 38 77 8 69
T~ = HNEX O AUE 37 39 76 7 69
A H # Z O ALUE 39 42 81 12 69
"nT | & B B & O #RG 46 40 86 16 70
mo B O ¥/XE 48 44 92 22 70
H E &% i O £RC 48 46 94 24 70
A N O %RC 41 40 81 11 70
E3 5 — O E R 40 38 78 8 70
A R B O = S E 45 45 90 20 70
2 K B & O T4y 38 39 77 7 70
ERRK H F O E R 40 40 80 10 70
~ B - O g2 R 41 43 84 14 70
i 5 IE B O B UM 36 43 79 9 70
21T | & E & O =H 38 40 78 7 71
= B E 17 O Y4U4=IV R 39 41 80 9 71
H & & A O = 38 42 80 9 71
E % — B O %#RC 40 43 83 12 71
e o= O 7r—-LAMEFH 34 39 73 2 71
N BE B B O = 38 46 84 13 71
x L O = R E 37 50 87 16 71
28T | B ¥ ZERX O hha 40 37 77 5 72
NI By SE O HE&C 44 41 85 13 72
dt W B % O A= 41 40 81 9 72
X W F 7 O ALUE 41 41 82 10 72
F E & O 7t—LAMEH 41 41 82 10 72
X H & & O ALUE 41 43 84 12 72
F XK B AR O ALUE 38 43 81 9 72
7 E " B O R 38 44 82 10 72
36T | A O #E @) BEEG 49 42 91 18 73
X kK & & O &iRC 43 39 82 9 73
2 T B & O HEEC 44 39 83 10 73
¥ % B 8k O Hhhas 39 39 78 5 73
MR # 1T O 71—LAMEH 42 41 83 10 73
#HEenN B A KEDE 41 41 82 9 73
B H B N 7+—LAMEH 44 44 88 15 73
£ & FE 7 kK R 39 41 80 7 73
T K F 2 MBI 39 41 80 7 73
B ¥ 8 AT AE 41 45 86 13 73
h & B = Y4U4=IV R 41 46 87 14 73
W KX X B = 41 48 89 16 73
W A Hhha 41 49 90 17 73
¥ HF X X Y4U24=IVR 40 49 89 16 73
50T [ )l R & & = L& E 42 39 81 7 74
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¥ R E B ALLUE 43 41 84 10 74
W B £RG 43 42 85 11 74
+ E IE Bf AUE 43 42 85 11 74
B & F & E R 45 44 89 15 74
F B £ — F!)—®IRE 43 44 87 13 74
E 5Bk KEDE 40 41 81 7 74
JIl 6§ i BEEE 40 41 81 7 74
R E F = 40 43 83 9 74
2 B F # E IR 39 42 81 7 74
A O 2 B XKEDE 38 40 78 4 74
# oA B ot IRE 39 43 82 8 74
62T | # " 2 KEDE 46 40 86 11 75
o F A =R E 44 40 84 9 75
# [ M E A= 44 42 86 11 75
E & # & hha 48 45 93 18 75
F O & — £iRC 46 46 92 17 75
H Lt F — £RG 41 40 81 6 75
Bl & 8 7 Mm B 44 45 89 14 75
¥ H F = AUE 41 43 84 9 75
#® 6 # AR R 43 44 87 12 75
R ZF BHSE AR N 43 44 87 12 75
T B % — KEDE 42 45 87 12 75
X B = AUE 40 46 86 11 75
EAN B’ % Fr!)—ERE 40 46 86 11 75
¥ H# B & = 42 47 89 14 75
kR K 15 BEES 40 48 88 13 75
E B % FE 37 45 82 7 75
2 0 B 2 = 37 46 83 8 75
79T | B T B 3k %iRC 49 43 92 16 76
A W MR H W 45 43 88 12 76
-G FE 45 44 89 13 76
E3] Bh = ik R 43 44 87 11 76
dt B R—G % ;RC 43 43 86 10 76
5 B X F hha 40 42 82 6 76
n B B 2z hhas 40 46 86 10 76
N Zi BEZ&C 41 47 88 12 76
N E 3 ALLUE 41 49 90 14 76
88T | NIl A = % = 45 42 87 10 77
R it KEDE 42 42 84 7 77
2 H =] £RC 44 48 92 15 77
F H & 7 =4y 41 45 86 9 77
g5 W F # hhas 43 47 90 13 77
dt W 3 £/RC 41 47 88 11 77
£ H FAHE A= 37 46 83 6 77
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95T | JIl um i %&RC 49 42 91 13 78
E H # X ALUE 46 42 88 10 78
W X B B Hhha 46 43 89 11 78
AGZRHE W — Y4V 4= VR 41 43 84 6 78
F K ¥ £ RG 47 50 97 19 78
mE B B — BEEG 46 52 98 20 78
E o ERRX hhas 39 50 89 11 78
102T | X %% & = BH W 50 42 92 13 79
= T th # FE 46 42 88 9 79
X H B & £/RC 46 43 89 10 79
X T & * £RG 45 44 89 10 79
B B HE&C 46 46 92 13 79
fh H B Y4U74=IVAR 41 45 86 7 79
A H ZF 3k YAUT4=IR 42 46 88 9 79
109T | H & E X M B 46 41 87 7 80
£ H = E R 46 40 86 6 80
B B & 17 %iRC 46 45 91 11 80
gl Il = B Hhs 48 50 98 18 80
= 85 B — £RG 45 49 94 14 80
2 & & & %#RC 46 53 99 19 80
M B FE s 41 51 92 12 80
116T | & & &= Al BE&G 53 44 97 16 81
& & B E V4U74=Ib A’ 47 41 88 7 81
E & # Al 2IXRE 47 44 91 10 81
m K g F £RG 50 47 97 16 81
dt & W — N 44 43 87 6 81
2 % X — B W 46 47 93 12 81
B OH il 5 ¥ 46 48 94 13 81
B B EESH 7+—LAMEH 48 51 99 18 81
H % B — ALUE 43 48 91 10 81
125T | b )il N m =B 53 45 98 16 82
X & GIA KEDE 53 48 101 19 82
T E & &t Fx!)—ERE 48 49 97 15 82
128T | & 1 BKER fEHED 53 45 98 15 83
Ci = P A = ALUE 47 44 91 8 83
B OE ik BEEC 45 49 94 11 83
131 h F B # = 45 47 92 8 84
132T | /& & 1 EBf Mm B 52 44 96 11 85
O ke B 7+—LAMEH 45 51 96 11 85
134T | R £ = & AR N 66 53 119 33 86
& KX B - mELUNL 51 44 95 9 86
136 | 88 Xk F M R 45 54 99 12 87
137 | B B ¥ 3 %;RC 54 49 103 11 92
- i A kK R Ri5
- A = BEE Ri5
- 15 I8 ¥ B VAU 4=IV R Ri5
- BEM R X XKEDE Ri5
- g & 8 B £ RG Ri5
=3
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